A Double integral on the elliptical 7egion :

For example, the equasion cjtthe ellipse is give by . ML 8)
%a. 2
= +2§.’ = 6 .
o %
Substivute f7c,= PCeso  into the above efuation,
S =gsine 2
¢ ‘fl- (050 (D 2 5ine
a}_ + P_gl__ :|
2 Sn'®
= ()2. ( O‘Jas}e + '22 ) |
a_ L ¥
== 059 | g8 = ASinp +besD
o b
If we tuke the avbitrary ot M(f:6) on the ellipSe, .
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In this ;ase, we need Fefrjarm Some (ooydinate transformations

t0 Cnvert the olomain into o disc, ord then do the double jvveqral
in  polar coovdinete .
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